 NYS COMMON CORE MATHEMATICS CURRICULUM

A # Correct
Solve.

1 2x2= o 23| 3x__ =21 7
2| 2x__ =4 2 24|  3x3= 9
3 3x3= 9 25| 4x__ =20 5
4| 3x__ =9 3 26| 4x__ =32 3
5 5x5 = A5 27|  4x4= |
6| 5x__ =25 5 28| 5x__ =20 L
71 1x__ =1 | 29| 5x___ =40 %
8 1x1= | 30 5x5= 25
9| 4x_ =16 Y 31| 6x_ =18 3
10| 4x4a= I, 32| 6x =54 9
11| 7x__ =49 / 33 6x6 = 26
12|  7x7= 4q 34| 7x_ =28 Y
13| 8x8= LH 35| 7x__ =56 S
14| 8x__ =64 % 3| 7x7= 49
15| 10x10 = Joo 37| 8x_ =24 5
16| 10x_ =100 O 38| 8x__ =72 9
17| 9x__ =81 9 39 8x8= Y
18 9x9= % 40| 9x_ =36 Y
19| 2x__ =10 5  |41| 9x_ =63 Wi
20| 2x__ =18 9 42|  9x9= il
21|  2x2= Y 43| 9x__ =54 G
22| 3x__ =12 4 44| 10x10= {00

© Bill Davidson
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i'_N'Ysr,COMM@NC{)RE‘,MATHEM,ATIVCSkCURR}'CULU‘M . Lesson 3 Sprint

B . Improvement __ # Correct
1 5x5= 25 23| 3x__ =24 3
2| 5x__=25 5 24| 3x3= Q
3 2% 2= b 25| 4x_ =12 >
4| 2x__ =4 2 26| 4x__ =28 =7
5 3x3= 9 27|  4xas= |
6| 3x__ =9 3 28| 5x_ =10 A
7 1x1= ’ 29| 5x =35 /
8| 1x__ =1 l 30 5x5= A5
9| 4x__ =16 1 31| 6x___ =24 Y
10 4x4= [0 32| 6x_ =48 oy
1| ex__ =36 b 33| 6x6= 30
12|  6x6= 36 34| 7x__ =21 3
13| 9x9= 1 35| 7x__ =63 Xl
14| ox_ =81 9 36| 7x7= Yq
15| 10x10= |00 |37] 8x__ =32 Y
16| 10x __ =100 (O 38| 8x__ =56 7
17| 7x__ =49 7 39 8x8= tu
18 7x7= Yq 40| 9x__ =27 3
19| 2x__ =8 Y M| 9x__ =72 %
20| 2x__ =186 b 42 9x9= gl
21 2x2= Y 43| 9x__ =63 7
22| 3x__ =15 5 44| 10x10= 100
© Bill Davidson
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A # Correct

Multiply.
1 3x2= eO |23 7x5= 75
2| 30x2= 60  |24| 700x5= LSOO
3| 300x2= Goo |25 8x3= 244
4| 3000x2= 6000 |og|  gox3= 240
5| 2x3000-= 6000 |27 9x 4= 36
6 2x 4= 3 28| 9000 x 4 = 36 000
7| 2x40= g0 |29 7x6= 42
8| 2x400= %00 |30| 7x600= L}2.00
9| 2x4000= Koo |31 8x9= 7.
10 3x3= q 32| 8x90= 720
11| 30x3= 90 33 6x9= b3
12| 300x3= 900 |34 6x9000= 63000
13| 3000x 3= Y000 |35 900x9= %100
14| 4000x 3= [2000 |36| 8000x 8= b 000
15| 400x3= 200 37| 7x70= Hao
16| 40x3= 2.0 38| 6x600= 3600
17 5x3= (5 39| 800x7= 5600
18| 500x3= |§00 40| 7 x 9000 = G3ood
19| 7x2= 4 41| 200x5= ooo
20 70x2= 140 42| 5x60= 300
21| 4x4= lo 43| 4000x5= | 40000
22| 4000 x 4= [00O |44| 800x5= Qoo

© Bill Davidson
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_ NYS COMMON CORE MATHEMATICS coRglcOlM . Lesson 7 Sprint

B Improvement __ # Correct
Multiply.
1 4x2= B 23 9x5= “4s
2 40x 2= 40) 24| 900x5= qsoo
3| 400x2= K60 25|  8x4= 32
4| 4000x 2= Fooo |26 80x4= 220
5| 2x4000= Yooo |27 9x3= L7
6 3x3= < 28| 9000x 3= 27000
7| 3x30= 90 29| 6x7= (o
8| 3x300= qGoo 30| 6x700= Y200
9| 3x3000= Gooo |31 8x7= $6
10 2x3= b 32| 8x70= S6 O
11 20x 3= GO 33 9x 6= 59
12| 200x3= (,00 34| 9x6000= 54000
13| 2000x 3= ©000 |35/ 800x8= LYoo
14| 3000x 4= |2000 36| 9000x 9= §( 00O
15| 300x4= | Loo 37| 7x700= a6 0
16 30x4= (20 38 6 x 60 = 360
17 3x5= & 39| 700x8= 56 00
18| 30x5= xe 40| 9x 7000 = 63000
19 6x2= [ 41 20x 5= oo
20/ 60x2= [20 42| 5x600= 3000
21 4% 4= [ 43| 400x 5= 2000
22| 400x4= (600 44| 8000x5= HYoooo
© Bill Davidson
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_NYS COMMON CORE MATHEMATICS CURRICULUM

. Lesson 13 Sprint

A # Correct
Multiply.
1 1x4= Y 23| 21x3= -2
2 10x 4 = Yo 24| 121x3= 263
3 11 x4 = Yy 25| 42x2= %Y
4 1x2= 2 26| 142x2= A%
5 20x 2 = Yo 27| 242x2= Gay
6 21x2= 4. 28| 342x2= Gsy
7 2x3= 6 29| 442x2= $6Y
8 30x3= G0 30 3x3= 9
9| 32x3= Qe 31| 13x3= 39
10| 3x5= |5 32| 213x3= (39
11| 20x5= loo 33| 1213x3= | 2(,29
12|  23x5= IS 34| 2113x3= | (339
13|  3x3= 9 35| 2131x3= | 6393
14| 40x3= Jro 36| 2311x3= 933
15| 43x3= A 37| 24x4-= Q.
16 4x2= % 38| 35x5= /75
17|  70x2= [ 4o 39| 54x3= 1,2
18 74x2= [dg 40| 63x6= 378
19 2x3= G 41| 125x4 = 500
20| 60x3= [0 42| 214x3= 647,
21| 62x3= A 43| 5213x2= | |46
22| 63x3= 149 44| 2135x4= |¥Syp
© Bill Davidson
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| NYS COMMON CORE MATHEMATICS CURRICULUM

~ Lesson 13 Sprin

B Improvement # Correct
Multiply.
1 1x6= G 23| 21x4-= G
2 10x6 = (O 24| 121x4= gy
3 1Mx6= 6o 25| 24x2-= Hg
4 1x2= . 26| 124x2= G
5| 30x2= LO 27| 224x2= Uy g
6 31x2= G 28| 324x2= GHHY
7 3x3= 9 29| 424x2= $4g
8| 20x3= xe, 30| 3x2= (o
9| 23x3= (9 31| 13x2= Al
10| 5x5= s 32| 213x2= 42
11| 20x5= [oo 33| 1213x2= | 2420
12| 25x5= 25 a4l 2113x2= | Y4226
13|  4x4= [ 35| 2131x2= Yo (L2
14| 30x4-= [0 36| 2311x2= U (d ).
15| 34x4= | 36 37| 23x4= Q2.
16| 4x2= ) 38| 53x5= 25
17| 90x2= 140 39| 45x3= 135
18| 94x2= (G 40| 36x6= A b
19| 2x3= A 41 215x3= | 4§
20| 40x3= 12,0 42| 125x4= | 500
21| 42x3= [26 43| 5312x2= |/0L2Y
22| 43x3= | 2.9 44| 1235x4 = qﬁéf@
© Bill Davidson
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_NYS COMMON CORE MATHEMATICS CURRICULUN

Lesson 19 Sprint.

A # Correct
Add.

1 20+ 2= jO 23| 68+2= 24
2 4+2= 2. 24| 96+3= 52.
3 24 + 2 = [ 25| 86+2= 43
4 30+ 3= O 26| 93+3= 5
5 6+3= 2 27| 88+4-= s
6 36+ 3= b 28| 99+3= 33
7 40 + 4 = }O 29| 66+3= 2
8 8+4= L 30| 66+2= 35
9 48 + 4 = /7. 31 40 + 4 = 1O
10 2+2= / 32| 80+4= 20
11 40 +2 = O 33| 60+4-= |\ S
12| 42+2= A 34| 68+4= [ 7
13 3+3= | 35| 20+2= 1O
14| 60+3= 20 36| 40+2= 20
15| 63+3= oy 37| 30+2= |5
16| 4+4= | 38| 36+2= X
17| 80+4= 20 39| 30+3= [()
18| 84+4= Al 40| 39+3= |5
19| 40+5= b 41| 45+3= |5
20| 50+5= L O 42| 60+3= A0
21| 60+5= L 43| 57+3= |9
22| 70+5= Y 44| 51+3= |77
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Improvement # Correct
Add.

30+ 3= / 23| 86+2= 4%
9+3= 3 24| 69+3= A2
39+ 3= 2 |25| 68=+2= S4
20+2= 16y 26| 96+3= EPS
6+2= 2 27 66 + 3 = A 2.
26 + 2 = /4 28| 99+3= %3
80 + 4 = AO 29| 88+4= 2.
4+4= | 30| 88+2= Y
84 + 4 = oy 31| 40+4= L O
2+2= | 32| 80+4= AO
60 + 2 = SO |83] 60+4= 1S
62+ 0= 2 34| 64+4= [ &
3:3= | 35| 20+2= 10
90 + 3 = 30 36| 40+2= 30
93 + 3 = 3| 37| 30+2= [5
8+4= A |38 38+2= 19
40 + 4 = 1O |39 30+3= 76
48 + 4 = | o 40| 36+3= [
50 + 5 = O |41] 42+3= /4
60+ 5= [2-  |42| 60+3= A0
70+ 5= /4 43| 54+3= I s

80+ 5= [ 44| 48+3=
@ Bill Davidson
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 NYS COMMON CORE MATHEMATICS CURRICULUM  Lesson 27 Sprint

A # Correct
Circle the prime number. ’ ,
1 4 3 23 40 (40 42
2 6 (3 24| 42 @3) 44
3 8 G 25| 49 (47 45
4 5) 10 26| (53 50 55
5 (5) 12 271 54 56 (69)
6 (5) 14 28 99 (90 95 .
7 8 (7) 20 (89 90 92 U
8 9 a1 30| 95 96 (97 (i
9 <) 15 31| 88 8 90
10 15 (17 2] e (61 62
11 (19) 16 33| 63 65  (67)
12 14 @ 34| (7D 70 69
13 (13 12 35| (73 75 77
14 18 (1) 6] 49 (G9) o9
15 (19, 20 37 63 93 (83
16 21 (29) 38 22 (2) 12
17 25 (19 9| (17) 27 57
18] (29 27 40 (5) 15 25
19 31 30 41 39 49 (59
20 33 (3D 42 1 21 Gy
21 9 @ 43 51 57 (2
22 51 (2) 44| 84 05 (43)
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NYS COMMON CORE MATHEMATICS CURRICULUM

Lesson 27’]Spriﬁt

B Improvement # Correct
Circle the prime number.
1 4 (5) 23 42 (49 40
2 6 (5) 24| 44 43 42
3 8 (5) 25 45 @]\ 49
4 D 10 26| (53 55 50
5 (» 12 27 56 54 (59
R G S RS
7 4 (3> 29D (@9 90 92 4y v bl
8 (1) 30/ 9 98 (@7
9 ( 1) 31 90 Ga) 88
10 ( 17) 32| (67) 65 63
11 19) 20 33| 62 (61) 60
12 14 43 34| 72 7D 70
13 (11) 12 35| 77 75 (73
14 16 (7 36 27 (&7 77
15 A9 18 37 39 49 (59
16 22 (23) 38 32 (2) 22
17 21 19 39|  (19) 49 69
18 (29) 28 40| (5} 15 55
19 31) 33 41 99 49 (59
20 35 € 42 1 21 Cﬁj
21 (2 9 43| 45 51 (2
22 57 @ 44| 48 85 (67)
© Bill Davidson
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NYS COMMON CORE MATHEMATICS CURRICULUM  Lesson 31 Sprint.

A # Correct
Divide.
1 6+2= 3 23| 300+5= ©0
2 60 + 2 = 30 24| 3000+ 5= boo
3 600 + 2 = 300 25 16 + 4 = ¢
4| 6000+2= Booo 26| 160+4= 4o
5 9+3= 3 27| 18+6= 3
6 90 + 3= 30 28| 1800+ 6 = 300
7 900 + 3 = ETo) 29| 28+7= |
8| 9000+3= 3ooo 30| 280+7= Yo
9 10+5= 2 31| 48+8-= G
10| 15+5= 3 32| 4800+ 8= L oo
11| 150+5= 30  |33| 6300+9= T
12| 1500+5= 300 |34 200+5= le)
13| 2500 +5= 509 |35 560+7= X
14| 3500+5 = To  |36| 7200+9= Fo O
15| 4500+5= G 0O 37| 480 +6 = SO
16| 450+ 5= GO 38| 5600+ 8= Joo
17 8+4= D 39| 400+5= Fo
18| 12+4-= 3 40| 6300+7= Goo
19| 120+4= 20 41| 810+9= o
20| 1200 +4 = 200 42| 640+ 8= Lo
21| 25+5= S 43| 5400+ 6 = FGoo
22| 30+5= b 44| 4000+ 5 = ¥ 00
© Bill Davidson
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| NYS COMMON CORE MATHEMATICS CURRICULLM Lesson 31 Sprint

B . Improvement # Correct

1 4+2= ) 23| 200+5= “o

2 40 + 2 = Lo 24| 2000+ 5= Yoo
3| 400+2= 200 25| 12+4= s

4| 4000+2= looco  |26| 120+4= S0
5 6+3= s 27 21+ 7= 3

6 60 + 3 = 2o 28| 2100+7 = 00
7| 600+3= Qoo 29| 18+6= 3

8| 6000+3= 2000 |30 180+6= 30
9 10+ 5= 2. 31| B4+9= 4

10| 15+5= 3 32| 5400+ 9= Loo
11| 150+5= Jo 33| 5600+ 8= oo
12| 250+5= 50 34| 300+5= b
13| 350+ 5= “Jo 35| 490+7-= 70
14| 3500 +5= 700 36| 6300+9-= JOo
15| 4500 + 5 = 900 37| 420+6= 70
16| 450+ 5= 90 38| 4800 + 8= boo
17 9+3= 3 39| 4000 +5= oo
18 12+ 3 = Y 40| 560+8= Jo
19| 120+3= 4o 41| 6400+ 8= OO
20| 1200+3 = Yoo 42| 720+8= 9o
21 25+ 5= S 43| 4800 + 6 = < oo
22 20+ 5= Y 44| 400+5= s
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